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SECTIONM@vS -1

‘Anganwadi "is g component of

(A) MGNREGA

(B) IAY

(C) ICDS

(D) PMGSY

‘IITATEY” U "ew @ ,

(A) WETI mﬂ@ﬁmﬂmmwa@m
(B) SI7RT 3 oty gy

(C) FfET a1 fawm ¥ o

(D) VTR U WEE g gy

The ﬁrsllsporls trainer of Rajasthan who received ‘Draunacharya Award” is: -
(A) Rajyavardhan Singh Rathore (B) Prof. Karan Singh

(C) Satpal Singh (D) Vijendra Singh Punia
NIOTRITT &1 98 9o/ Wd e oy gomard > e 2
(A) ST fiE ele (B)e M Fe RiE
(C) waure g (D) fau Re giqan

- Which of the following matches is not correct ?
(A) Bhuveneshwari Kumari — Cricket .(B) Suresh Mishra - Volleyball
(C) Khushiram — Basketball (D) Varsha Soni — Hockey
=il -9 ®1F W1 g gafer T8 8 ?

\wg/ﬁ;ﬂﬂ? T — e (B) [¥¥ s — dfchare
(C) geiRm — ardedrd (D) a8l VT — g

Y Gurdwara Buddha Johad is located near to
(A) * Raisingh Nagar (B) Churu
(C) Fatehpur Shekhawati (D) Kota
ToENT g3 wiEs fawa ar e 87
(A) rffea B) &
©) waTR I@mr (D) @

" ‘Shakkar Peer Baba’ is popularly known as
(A) Gogamedi Mandir (B)  Gareeb Navaz Dargaah
(C) Narhad Dargaah (D) Nizamuddin Olia Dargaah*
TR R arer @1 S A E
(A) R e (B) W Taret Tve
(€) TREseTE (D) PR shfrn avme
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In which district Ramsagar Vanvihar Sanctuary 15

(B) Churu

lpur
(C) Pratapgarh (D) D‘l“j’tfl p

(A) e W
(C) yvdamuTe (

(A) Jaisalmer

7. | Rajasthan State Woman Commission was constituted in

(A) 1995 (B) 1990

(C) 1999 (D) 2001

NI 58 Afeel anT w9 nfed fohar T ?

(A) ;? (B) 1990

©) 1 y (D: I
8. ) Major raw material of thermal power 1s

(A) Uranium (B) Coal

(C) Copper (D) Zinc

(A) T¥Pram W

(C) dfar (D) wm y
9. | The period of XII five year plan is =

(A) 2002-07 (B) 2007-12

(C) 2012-17 - (D) 2010-15

1291 quada qroET ) aafy @ e

(A) 2002-0 (BM *

fC)}m{?/ (D) 201015 , ‘
10. State Bird of Rajasthan is

(A) Peacock (B) Godawan

(C) Parrot (D) Nightingalg

ST F1 W wef)

(A) R @)

(€)@ D) gomew
208 @ 4
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@_}'l’hc Persian translation of Mahabharat is

(A) Tuzuke-Babri (BY Ain-e- Akbari
() J aismhita' (D) Razmnama
AETTRE @1 HRH AAE BEAT T

(A) Tor-arEs] - (B) ST -STHa
(C) Nl (D) oA

12. As per Census 2011 the total literacy rate of Rajasthan is

(A) 54.71 (B) 67.06
(C) 78.13 (D) 71.82
STEITT 2011 & STER ol T @l |l &
(A) 54.71 06
(C) 78.13 .. (D) 71.82

13. Bor(Borla) is worn on

(A) Wnst (B) Forehead
(C) Arms

(D) Nose
IR (AR ) TEAT @ B

(A) weE W __(B)\;iﬂﬂfﬂ/

(C) drogdft W (D) =P W
14.: First Education Minister of Rajasthan was
(A) Bhogilal Pandya (B) Teeka Ram Paliwal
(C) Prem Narayan Mathur (D) Harvilas Sarda
IO B o e W= o
(A) WIS U e (B) SERE UieET
(€) W‘ﬁt AR (D) Efems JRen
155.. ‘Kajli Teej’ is celebrated in
ig .;;HPL:. (B) Jodhpur
| un 11 (D) Udaipur
Bl A HATE Wi R
(A) SR
TR B) g
© # . (D) S
L-11
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16. When did modem Panchayati Raj System maugﬂl'at 52
I (A) 2 Oct. 1959 (B) 2 Oct.

(C) 12 Oct 1957 () 120ct. 1993
AT darad o BT YR T g 7
(A) 257, 1959 (B) 2 3, 1952

(C) 12 3T, 1957 (D) 12 I 1993

'{\f’? @ The geographical area of Rajasthan is almost equal to
= (A) Canada (B) Germany
(C) France (D) Australia

o & W Sawe T fue axreax & 7
(A) wrET (B) WHH .
(C) Wi (m/s,réf?-rm

18.  Which district of Rajasthan is known as “Tapobhoomi of Malvas’s King Bhirtrihari™" ?

(4] Khpar (B) Bundi
(C) Kota {D] Alwar
TR B B 61 e e @ o ygEl @) aufy s 2 2

) 5 ® @&
(© @ T

19.  The apex body responsible for sports development in Rajasthan is

7 (A) S.M.S. Stadium (B) Rajasthan State Sports Council
(C) Nehru Yuva Kendra (D) BCCI
IR A Wl B IS 8 S Hatem weer
(A) TH.UATH. R (B)/w% T TRz -
(C) 8% ga1 I (@) NAAMMIE [1- ¢ o
ZP. Which of the following award is given by Government of Rajasthan toa sport
' (A) Draunacharya Awards (B) Bhishma Awarq S mim?
(C) Maharana Pratap Award (D) Vijugishuy Award
mﬂ;maﬁwwmﬁmaﬁww%m%?
(A) T QTR (B) ™1 g ‘
(C) SEIRT Wefid qRespiv (D) T qrear
208 6
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Which of the following districts of Rajasthan is a parnt of Ghaggar plain ?

(A) Jhunjhunu (B) Nagaur
(C) Churu (D) Rhnmnmmvar
Frey 1§ vroreerrs o B fore e Aar @1 ey 2

(A) T B) AR __-

(€) g5 () o
Jhamer kotra is famous for which mineral in Rajasthan 7

(A) Gypsum (B) Rock Phosphate
(C) Silver (D) Tungsten
'mmwuﬁﬁﬁramﬁm%quﬁ?a’%?

(A) forem (B}\m
(€) =l (D) <A

The dance of Bheels which continues for one and a quarter month is —

(A) Gindhar (BY Gavn
(C) Valar (D) Gar
S @7 AT HIE TF qe el [ B

(A) TiEs (B}
(C) drer {DJ_}’?W/

Which basin is located in the Thar Desert ?
(A) Gorwar Basin (B) Kanthal Basin

(C) Chambal Basin (D) Banas Basin
e afe aR—TeRee 3 e 8.7

[A;\_;d@{ af ‘ (B) @Mod afe
(C) ¥ad 4R (D) Eliig!
In terms of area, the smallest district in Rajasthan is-
(A) Dungarpur (B) Dausa
(C) Dholpur (D) Banswara
arerearrt | fre ) g & wad vl e 8-
(A) FRE (B) W
(©) (D) afErst

7
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Name of place where Meera spent her last

— (A) Merta
(C) Dwarka

days Is -
(B) Vrndavan
(D) Ahmcdi{bﬂd

%ﬁmmwmwww?ﬂa
(A) e (B);
(C) ER®! (D) HEHH
\L-"il

- X ?
t‘:l ! ) . cw .
@jlf\ﬂcr the revolt of 1857, Gun Salute of which State was redu

“ (A) Bundi

(C) Jodhpur (D). Kota
1957 @ R & uvar frg Rarra @1 adt @) Fem o4
(A) T (B) §HY
(C) IR (D) el

28.  On which river is the Bisalpur dam located ?

" (A) Bedach (B) Chambal

(C) Kothan (D) Banas
dITergR @t e A ov Rem @ 7
(A) = (B) . Higl
(C) wlo™ {D)_/Fﬂ'/‘

29.  Chhappan Plain is located at-
' (A) Barmer

(B) Dungarpur

(B) Bharatpur

(C) Banswara (D) Udaipur

oW & HgT R - ..

(A) TSR (B) AR

(C) wrwEr (D) STAR
3{]1. Who is worshipped as snake God ?

- (A) Tejaji (B) Harbuji
(C) Dhanna (D) Pabuji
|of @ 2qa & FH B go T & ?

(A) (B) W
(€} o (D) '
208 @ 8
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‘Prithviraj Raso’ was written by

(A) Nagarchandra (B) Chand Bardai
(C) Mohammad Jaisi (D) Jaynak
GuiRTH TEr @ TEAER - et
(A) ATRE (B)  miears
(C) wrewyg T (D) WUFES

Kalibanga civilization was discovered at the bank of river -

(A) Banas (B) Drisdvati

(C) Chambal (D) Berach

frg 1 @ AR FTeET wwa org e ? /
(A) FTH (B)—gLEh

(C) @=d "~ (D) ¥s

Who was the Prime Minister of Matsya Sangha ?

(A) Shobha Ram Kumawat (B) Manikya Lal Verma
(C) Heera Lal Shastn (D) Tikaram Paliwal
Ao WY @ Ar e o ?

(A) ~TRTH G (B) wforea @ @i
(C) et A (D) EFRM Greldrel
Which crop is grown on the largest area in the State of Rajasthan ?
(A) Wheat ~ (B) Rice

(C) Maize ~ (D) Bajra

Wm#mﬁﬁﬂmmﬁmwﬁﬁﬁlﬁﬁﬁ?'
(A) T (B) A
(C) #FHT (D)

Which park is famous for green pigeons ?

(A) Sariska (B) Ghana Bird Park
(C) Ranthambhor (D) Sitamata Sanctuary
W R IaE RIS © 7
(A ' (B) = el faew
(C) ormiR (D) R anIRYY
’ 208
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Nali breed pertains to which amm (B) Sheep e

(A) ot Cow
(C) Camecl (D)

et T fr Y @ WAy <@ 8§ 7 :
(A) adHar ( 'r|'::[
(C) e (D),

. huilt 15
. ipaisamundra J
The name of the ruler of Mewar during whose reign Ry
(B) Jagatsmgh I

(A) Sanga
(D) Rajsingh 11

(C) Rajsingh I _ T 2lT—
Yarg & waE T A e wreaTa A aoegs @ TS

(B) GrrdfaE 9eH

(D) \ﬂﬁlﬂﬁ/f‘g?ﬁﬂ

(A) I
(C) wafye wery

38.  When did Alauddin Khilji attack Chittor ?
- (A) 1301 AD. (B) 1302 AD.
(C) 1303 AD. (D) 1311 A.D.
STATSEE faelt A fadle W= B smpae f ?
(A) 1301 ¥, (B) 1302 %
(C) uﬂ/ (D) 1311 &
3#51'_. Which pair is not correct ? ‘ %
(A)  Ummed sagar- Jodhpur (B) Nawalkhan -Kota
(C) Jaisamand lake-Udaipur - (D) Pannalal Shah Pond-Jhunjhuny
DITH g W € R 7
(A) SRR €R TNy (BKM .
(C) wiawwE 3?!'8—-(-1?{?13'\' (D) U=TraTe wm m‘%‘%ﬂ\'ﬁ“ ‘
% :]:m};{?ts;nm has the maximum literacy rate in R_ﬂjasthan a5 per Census 207 12
(B) Jaipur
(C) Alwar D) Ajmer
mlllwﬁmwﬁwmmmmmm
(A) (B) W ﬁ:’m B ?
(C) afcaw D) ariv
208 o 16
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41. The father of sociometry method is -
" (A) V.V. Akolkar (B) J.G. Home
(i\“i ] (C) P.V.Jung (D) Moreno
V7 gmafafa fafy @ ST € -
(A) OR P mj/j%@“
(C) @ gu R b
42.  Which of the following is not the correct match of leaming theories and their fou
(A) Theory of Reinforcement — Kofika
(B) Theory of Insight — Kohler
(C) Conditioned-Response Theory - Pavlov
(D) Stimulus-Response Theory — Thorndike
ﬁmwi@atﬁmﬁﬁqawmaﬁﬁm-mﬁawﬁ??
T (A) Fraa & g1 — S
-7 (B) el T g — FEer
(€) TRE-wahn Rem — gadE
(D) SewE—arfiar g — ureRs

nder 7

43. ‘Rorschach Ink Blot Test’ is used for the measurement of -

(A) Intelligence (B) Interest
(C) Achievement (D) Personality
N v el e wegor 1w fan o & -
(A) gfg @ 7A@ fav (B) wfu@ 3 forg
“(C) Sydfy @ Am @ ferg (D)_=rTed & #I9H @ &g
44. According to psycho-analysts, the human behaviour is directed by -
" (A) Conscious mind (B) Unconscious mind -
(C) Sub-conscious mind (D) Environment
- FAeTemvEfedl @ SER A TIER Wﬁ—
}, (A) FTF ¥4 BRI (B) T NI
(C) U=+ w1 gRI (D) FIATERY §RT
415q Repression and Suppression are the types of -
(A) Motivation methods (B) Adjustment methods
(C) Defence mechanism (D) Teaching methods

AN FF T o T E -

~ (A) s fafag B T R D
€ ¥ (D) T Rt @

L-1 11
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t the mental develapment

46. The factor which does not affec
< (A) Environment of the family
(B) Religious environment _
(C) Social status of the family ! 1
(D)  Economic status of the family B
A AR f R @ e &Y T SEE TE
7 (A) oRar @1 amarERY ( allgs aﬁalaiaqﬁfﬁam Reffer
(Cy ufar @ arfas Refd (D) et
e discoverc
47. Newton saw the apple falling down from the tree and suddenly h
) gravitation. This is an example of- o
(A) Insight (B) Thinking
(C) Motivation (D) Incitement 2 e
Wﬁﬂ&{@ﬁaﬁﬁﬁqﬁmaﬁqwmm Rrgr
&1 | U8 IS 2- |
B e = (B) for @
(C) AR T (D) RO T
48, The factors responsible for frustration and mental conflicts are-

(A)  Biological and physical factors (B) Emotional factors
(C)  Social factors (D) All of the above

\\ﬂwqawﬁl?ggaawﬁ— :
\1A) Sifaata vg $ifye s (B) TS
(C) wrfes Hrw {DM

49,

S0.

‘\

208 &

N — =1

By leaming outcome, it means-
(A} Change in the behaviour of child

(B) Change in the teaching-method of a teacher
(C) Completion of the syllabus
(D) None of the above

3@"111 aeqd 2
“F @ TIER A B ara

{B} ﬁ?"{mﬂf’rmﬁfﬁﬁrﬁqﬁaﬁq .

(C) uTEa W g By .

(D) Sudad § § &1 =%

[n the language devel

opment of a child, the main contribut;
(A)  Family

(B)* Schoo]
(C) Mass -media (D} Magazines
qTAF & T R A T YT @

(A) uftar : ;g 1 N
(C) AR gy N
(D) 93-uf3yamy

12

Ng agency jg .
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51. Endocrine glands are which type of factor that affect personality 7
; (A) Social (B) Hereditary

(C) Cultural (D) All of the above

S it afiee ® T S el B FRE & 7
Ay <o (a)/arﬁ'r/f%m

(C) wranfaE (Dy Sudad Wi

52. In modern education, the use of psychology is based on-

(A) Individual differences (B) Religion

o1 (C) Class (D) School management

2 W T ST SERA  —
(A) fafy=ramsn o (B) UH W

(C) @ W Lo (D) faemerm wERFT W

g 53.? Who did the heredity related npeﬁments on rats ?

~— (A) Karl Peasron (B) Mc Dougal
(C) Mendal (D) Pavlov
aw% warT get gx fasae famn ?
(A) A T (B) HEgTE A
©) Avsa A O (D) e |

Which is not the part of memory ? e
(B) Thinking

— (A) Leaming
(C) Retention (D) Recall
Wy &7 3T P TE ' 7

(A) T (BB

© a_@/ (D) FHER

55. Performance tests of intelligence are useful for -

T (A) Children (B) Deaf and dumb
11 (€) Illiterates (D) All
- g fruree oheor IEEl E -
(A) TEE B e ~(B) TR aRt D frg
) FreRi @ R (D) BT
L-I1 ) 13 ﬂ
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Who propounded the theory of psycho (B) Erickson

56.
©~ (A) Sigmund Freud (D) Brunet
(C) Jean Piaget L
- g Rigr B S
AT . @) FRFIT
(A fRrmvg s TR
(©) it ()
57. The psychological cause of delinquency is - "
! A r .
(A) Suppressed desires ) Raa id development of sex organs
(C) Chromosomes (D) P
AT BT e BRI &
(A) (B) I«
' fampra
(C) TU—H (D) _ﬁ% GICREE
58. Conditioned Response Theory is - '
" (A) Theory of Intelligence (B) Theory of Learming
(C) Theory of motivation (D) Theory of teaching
(L St it Rier & -
(A Tz T Rrer , (B}_aﬁﬁmﬁﬁ@r‘ﬂ
(C) afyRon &1 g (D) fImor &1 fagr
551L To propound the theory of learning, LP. Pavlov experimented on -
(A) Rat (B) Dog ’
e (C) Cat (D) Monkey
; 'ﬁ//ﬁ'@#fﬁﬁ-f@?ﬁ%ﬂm a?ﬁ'maaﬁ.ﬁww%m_
(A) F W (By HR
€ Rt D) TR w
60 The Kindergarten method of teaching is based on-
= (ﬂ}] PT‘U_I ect method (B) P]ay_wa methﬂd
’ \“\] ) Survey method .
~ _ (D) Heuristic method
R ) feermds wafy amnfe @ —
A) Wade
{C) mqa'“ R (B)_ 2oy
9 SRy D) R Ry
208 & 14
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61. According to Gardner, ability 1o notice and make distinctions #mong the moods,
temperaments, motivations and intentions of other peoples 15 termed as:

(B) Interpersonal Intelhigence

(D) LuE;icnl—!’\’lalhunmncal hne]lig;nrza
Fygeora 3 el T WHZHY

(A) Musical Intelligence
(C) Linguistic Intelligence
MEAR @ AR, Iy afiad @ A, weet A
I g o ) dbar seah 2-

(A) TeEE gie (B)_aFaeaafimd afE:
(C) e g (D) difane 'ﬁﬁ?ﬁTﬂ qf&

Which intelligence type has not been suggested by Gardner

62

“  (A) Interpesonal (B) Badily-Kinesthetic
— (C) Cultural (D) L;}gical-Mathcnmlical
L afe &1 @1 W dER SR gRT S e

& (A) 3eRATfRIF (B) TRRE Tfay wad
(C) Wﬂ'zr/ (D) afda—Tforia

63.  Which cannot be a characteristic of energetic friendly child ?

X (A) Cheerful (B) Sociable
(C) Easily annoyed (D) High energy level
®IF G FWaE Aead ards o FE0 a8 8 ¢

(ALE;E?& ' (B) WIS
(C Y faes gren (D) Tl F Ied WX

64. Which of the following is the earliest and most sustained source of social contact for the

4 child ?
(A) Teachers (B) Family

(C) Co-workers (D) Friends
arEE @ B A W EE O gEiie gred 6 Gid wa RS iR e oifte wer

qrer & 7
(A) R (m/aﬁm/‘

(C) HEHHI (D) f=

65. With which of the following techniques the terms such as Star and Clique a

" associated ?
(B) Sociometry

/‘ (A) Observation

[\[ C) Projective : (D) Interview
ﬁﬂﬁﬁ%ﬂﬁWﬁWﬁﬂ@ﬁm?
(A) W&o ) (B)\#TS|
(C) wad (D) WHEHR

L-11 15
222,03, 12022320
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oty is called
: anxiety 1s ¢d
66. Unconsciously utilized strategy that serves to protect the ego from
=|

(A)  Defense mechanism (B) Selfnmlﬂ*‘-‘ff‘” tsglas
(C) Selfc cept (D) Self protection stra LE‘E}
Wﬂ‘ﬂfm SLEYT W e F gRE @ qard) ¥ eraml B
(A) i Fftky - (B) @ qum b_
C) = / (D) ¥ 9919 gERaAn
~|ves is called
67.  The composite of ideas, feelings and attitudes people have about themselves
" (A) Body image (B) Self knowledge
(C)  Self concept (D) Body knowledge \ . . )
i ! : . - ¥ Yad 8 PG
e, sraeme qu ®T WY N @f 9 W B an

€ ' (D) ¥R

[
E(g _ .

8.\ Who has explained Stage Theory of Moral Reasoning ?

~ (A) Kohlberg

(B) Erikson
(C)  Freud (D) Pavlov
e a @ S frgT e vae R o
(A) ®EETH ; (B) - gRaae
(C) HIas (D} fl't]?ﬂ‘q

(A)  Empathy

(B)  Sympathy
(C) Equi-emotion

es, the lawsg nf'sm:iet}. V) Others
(A) Preconvtntinnal

(C) Postconventiona]

= (D)  Pre-Pogt Conventiong]
TEAT B frgry @ STTER B Y arqeern wr T L ,
>’/ qrf%___arfianmaﬂﬂraﬁ. q ?.':lﬁm.,_w U 99 & Frami :.’Iﬁﬁ 4 % KA

i ARG Bl TS G{_ﬂfﬂ
W) e T B) TrRe BT ¢y
(C)  vruRmRE

208 &

ey D2 CIELD S
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@ A child of ten years who succeeded on the jtems passed by most six years old was
= considered to have mental age of

(A) 6 (B) .

(C) on (D) 100

UF T cnf &1 munrﬁtﬁﬂ 9 WHE 3@ & o W ey v iy 4w

TEel 8o & Zﬁﬂliﬁﬁﬁaﬂgw

(A) & = (B) “0
(C) &0 yﬁf‘ﬁ (D}JDU/

£
Bulima is a \
(A)  Attention disorder (B)  Eating disorder
(C) Reading disorder (D) _Calculation disorder
gferfam &
¢ a1t
(A) mrﬁn-{_@'ﬂgf?l (B) A7 U8Y fﬁﬂi’r’l
(€) gt gty (D) o Ak

73.  Which of the following theory of intelligence is based on cognilive process H
(A) Sterberg’s triarchic theory -
(B) Gardner's multiple intelligence theory
(C) Guilford's three dimensional theory
(D) Spearman'’s two factor theory
fy=fafia § | &1 W gfg @ Qrwwmrﬂiﬁmq?muﬁa%ﬂ
(A) et &1 s e v
(B) €AT &1 98 gfe e
() fireng fHemord figra ;
(D) whaeE T fFaRe R

@ Who of the following has cmphns[zed on suuai learning in personality development ?

74.
(B) Freud

— (A) Bandura
(C) Maslow

Cy e
yWﬁﬁﬂMWWﬁWWM??
(A) dUET

(Q}@"{%{ (D) 9°<

es not affect'langua:ﬁe development ?
(B) Motivation
(D) Height and weight

75.  Which of the following do
A (A) Maturation

(C) Ueaith
fdf@fﬁﬁﬁaﬁﬂ?ﬂiﬂmfﬁﬁfﬁmaﬁwﬁﬁﬁm?
(A) O QEIEFCI___FFH :B) X - T
(C) =4 w .
- 13, 3 208 &
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dren ?

iscipline to chil
! ! ach discipline
76.  Which of the following is an appropriate technique wct:,:ic e s
~ (A) Authoritarian technique (B) Democrs

e chrnigue
(C)  Permussive technique (D) Passive techniq

R B 7
R @ el a3 e fram @ fo SR

(A) Wamem ufafsy (B) _gwrcfﬁzw ufafe

(C)  Srpafiyel ufafy . (D) fafipu ity

i int to home 15
. . a starting point
77.  The test in which the child must trace the correct route from a

called : W i
(A)  Coding test (B) Mazes
(C)  Objcet Assembly {D) Block Design X -
T uﬂmrﬂﬁ?ﬁaﬁnmﬁmﬁﬁmwrﬂﬁmmﬁﬁwm Ll
B, TR 2— =
.
(A) aif_' 31___(1'6]}.--1' (W._. .\'Jt'm \(_'plu .,‘I
(C) &g Her. (D) =il frafor e
" q
78. Who explained mformation processing approach to intelligence ? .
- (A) Stemberg (B3) Binet
. (C) Terman (D) Thruston
f’\\‘}_’ AE @ I v (SRR s g frersy ?
T (A) vt (B) fas
(C) Tz (DLAI;{:;
79. Who discussed the concept of Latent Learning in his theory ?
(A) Hull (B)  Bandura
f,-\ (C) Tolman (D) - Guthrie
'VWﬁmﬁﬂnﬁmmmhmﬁmﬁ%ﬁM?
(A) &4 B) gugy
(C) <efeim D) e
80. € According to Spearman, which of the following is (he lerm used fy -
- ability that would be involved in al cognitive tasks ? ' . f Mental energy or
(A} P-factor (B)  S-factor
~  (C) M-factor (D)  G-factor

.f\\,\/mﬁ_-i F STER, §f W Hrt & 'w’ﬂﬁ?'ﬂ__maﬁ;zﬁ T

e | N T ey
(A) PR B) T-ww
©) TiTnm (D) D@

208 & 18 =
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SECTION/svs -V

On applying a small pushing force on a heavy box placed on a rough flo

move. This 1s because .

(A) The frctonal force between the surface of the box and the floor bal
pushing torce

(B) There 1s a strong attractive force between the surface of

(C) The gravitational force of the floor keeps the box fixed

(1) The adhesive I'm_‘ces exerted on the box by the lloor are strong R

S e T R A 0w ) A ) Semd W goad @) g awa @GR

a8) frgwar Tt

(A) P T AR ) TE waE @ & iy g SNa @e o G sXa e |

(B) wl va aw) @ F I@E @ A werga e A6 B '

(C) WY T TEaddvl ad am) &) oy a1l £

(D) Wl g ) W R Ao A word € |

When a motorcar makes a sharp tum at a hl}éhlspccd. we slip to one side of the seat. This

1s because of '

or, it does not
ances the

the box and the floor

(A) Frictional force (B) Gravitational force
(C) prl\llﬁmﬂ force ' (D) The inertia of our body
wd ¢ HeER dW T @ A e e w ged @ d &9 e @ @ AR e

£ | SUEH FROE ?
(A) Ul a9, el
(C) wfvadm ad e

The force of friction

(A} Always acts in the direction of motion

(B) Always acts agamnst the direction of motion

(C) Has no particular direction

(D} Has a dircction depending on the size of the body

YU 46 -

{W ) fem A ol w2 |

( &7 nfa @ Ren & fawda i @ @ e
(C) ® ¢ fadw fewm & B R |
(D) @ o o @ IHR W R T 7 |

According to Newton's third law of motion, action and reaction :

(A) have same magnitude and dircctions

(B) always act on different bodies in opposite directions

(C) act on either body at normal to each other

(D) always act on the same body

wqes ®) MY @ A Fum @ aer, v ga alifear -

(A) @ ve freml W el E |

(B 7 31 iy axagall W faoda faensdl & o ol #

(C) fh N oo o W T g B e i el 8 |

(D) WIT UF & avg W T 8§ |

The linear momentum of a body of mass m, moving with velocity v is :

(A) 'am? (B) m?

(C) (mv)? (D) mv
WWEWmSﬂ?&TVE’IH’Tmm—
(A) 2 e ! (B) my’

(C) (mv)’ ()

N T ey 208 ¢

D)= IR e)=)iES
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86 Thc salt formed by strong acid and strong base ::‘H COONa
4 ) NI 501 .(B)
(C) K,SO, 5
A A 09 Fael SR W AT e @ Eﬁ;.tCODNﬂ
NC(A) NH,C (B

/ 0 ) CaCl
M_:s(}# ‘(ﬂ"&‘_hl':j S _{D} 2

e

(D) CaCly

. | i -
,»"fhr: chemical formula of Nitric Oxide is-
7 (A) *NO (B) N,0
(C) NO, (D) NO_-._ . _
T siiewres & Rt 5 g < P "™
=t NO fw ot T
{C} ND: ) sl g fD} N03 --T'! 2 b ___.—-'é"'._"d.—-

.

q_&.---"’lmmic mass number is equal ta-

s’ (A)  Number of protons in nucleus
(B)  Number of protons and electrons
(C) Numbher of protons and neutrons m nucleus
(D) Number of electrons
I T TTEA FHE B L —
(A) THa F wer o) dear s
(B) WEW v gaagt @ g
(C)—Trm Hmﬁﬂwwﬁmaﬁmmw

(D) FoEEAT @ e '3 ~
EP/ThE substance composed of only one element is-
> (A) Brass _(B)  Steel
(C) Graphite l’D}l Polythene
UE # aw u Ay ugRl & —
(A) ae (B) g
(C)—Ttrge (D) ulchefrs
. The substance that does not form oxide of carbon on bumtng-
% ~ (A) Diamond (B) Paper
(C)  Sodium (D) Nvlon
ugref Frlrmirrﬁﬂiﬂmsvﬁ'é'l CTE R, ag
( Byl (B) CANE|

(C) @ (D) rEm

208 @& C\ '\/ 20 L
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s '9.1' The gas in air that has maximum percentage of presence is-

(A) co, (B) 0,

© N, @ co '™
aryg % SuRerd a8 A R vfoww sifaam 2 f'"m.
(A) €O, (B) O,

. N~ (D) €O

92 - Which of the following is not a physical change 7

“ (A} Boiling of water to form stcam  (B)  Melting of ice to give water
(C) Dissolution of salt in water (D)  Combustion of LPG
Frfofaa 4 @ s $ife dRads 98 @ 2
(A) G+l @1 Faa FX arg g (B) aw @1 fygedy Tl &I

(C) 79& &1 uFfl 3 g (D) —rEdoh. &1 28
[n dicot plants, the tap root is formed from —
= (A) Adventitious root (B) Radicle
(C) Plumule (D)  Fibrous root
N &@ﬁaﬁmﬁwﬁmﬁfﬁq“’m?—
_a\“ {A_}m@ﬁmvmﬂ (B) HHARIER A
(C) wiERH (D) T 7 A

In which of the following fasciculated roots are found ?
= (A) Ginger (B) Ground nut

(C) Pea (D) Asparagus

ﬁﬁﬁfﬁﬁﬂﬁqﬁmamgﬁﬁmﬁﬁww?
A
Ly {Maﬁ i B) Hmwelt #

(C) #eT ¥ (D) B (TARTH) #

\E%:'IWhich of the following is an insectivorous plant ?

(A) Euphorbia ' (B) Utricularia
(C) Calotropis (D) Trapa
g:’;ﬂ =1 4 3 ateweh drn 2 . R

T (A) R (gmRfaEn .. {(B)TEreq (gt
(C) IF (Calotropis) (D) ¥ (Trapa)

el ¢ 208 %




96. /‘éllmyilmax}f 1s -

N

¥l

98.

99.

(A) Inflorescence

(B) Pattern of arrangement of leaves on the stem/branch
(C) Anatomy

(D) Leaf movement

goffa=urs ® —

(A) WEH

(B)_2</ema R O E e

(C) amaIfan

(D) uvl &7 fieersr

Hanging roots that support the branches of a banyan trec arc called-
(A) Tap roots (B) Prop roots

(C) Dangling roots (D) Climbing roots
qmwnfaﬁﬂgﬁmaﬁmwﬁmﬁmﬁﬂ'&ﬁ?ﬁgﬁﬁﬁwm
(A) FEA A (B)_arwr™ el

(C) e q& (D) 3RIET e

Hydroponics is the technique of growing plants in-

(A) A hypotonic solution (B) A hydropower plant
(C) A nutrient solution - (D) Anisotonic solution
ForHaya det @) H fasfug & @ asiia R

(A) & RN faega (B) UF TAfdSTel Ha=
(=% o e D) T TR e

In photosynthesis which of the following process takes place in stroma ?

(A) Synthesis of sugar (B) Photolysis of water

(C) Electron transport (D) Emerson effect

wETe HYeE H e ¥ o) ufvo w2 F ey 2 -
(A)LATIRI T HIAY (B) e &1 YR arqeyes

(C) Feiggr aRae (D) HHA Turg

jm}" The transport of food through the phloem tissues of pIa.nts 1s called- - i
(A) Transpiration (B) Translocation
(C) Diffusion (D) Abserption

ol T Sw @ M o S R e

(A) @G (B]m

(C) fawe (D)  Sraey

208 & 22
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-

-Iul.'/ A schoal ina village is 2 km pony .
. (A) Useful 10f the railw
(C) Anend point

2 : et : (D) Ingignificant
g A TH e T ey g :
Rl M A T T W R 9 g ST fRE0 4R | g SN i Nely WIELP

ay station. The railway station is
(B) A reference point

guar
i;‘:i' ;_LF o BT fder fag
’!""‘} {LJP rﬂ']’ﬂﬂ

102 A'person Stants F:‘nm ® point ﬁ Moves 2 km 1o reach the point B. He returns back from B
' 1o the point A. Which of the lollowing is (e 9
(A) The displacement is zero ' .
(B) The total distance covere( 1S Zero
(C) Both dtspk_tn:mn:m and total distance covered are zero
LI;:' _q:g ‘%‘;E ‘i";{{arﬁqﬂt‘cmd IS zero but the dusplacmﬁcnt 15 not zero
—Fe andr ? .1,'{ ST T;rq%_ zfﬁf?g*g fag B ugmdl 2| 98 B AW fAg A W
(A) TYI R =%
(B) T T G G0 9w ¢
(€) E.'Wfﬁ@mﬁiﬂﬂﬁaﬂwgm@ﬁ:q% |
(D) T F T T U 2 A et g 2

-
103, The SIunit of speed is

" (A) kmhr (B) mys?
(C) cmjs (D) m/s
A &7 SIHFE € |
(A) fFdveer (B) =Ry
(C). [/ (D)

]{]j If lhcl velocity of an object is changing at a uniform rate. for-intitial velocity u and final
i~ velocity v, the average velocity'V; is given by

u+y -

(A) Vm- " (B) Vav = - :
. uxy o AJuty

<y vV,=— (B ¥a==—e

a2 TR @ A W w9 ¥ ORAR @ @ TR A u s s A v 2

+y ., u-—v i .
(A Y= (B) Vi="3

uXv u+v
D) Vg =

{C), 1wra'-' B 2 s

\1/[;,»1? a particle moves half a circle along a circular path of radius r, the displacement of the
=~ particle would be: '

(A) 2r (B) mr
(C) 2mr (D) Zero

@ TV B (1) & QAER 99§ T AR € R SG W T B gvA gem
favemgs & - =ty d_)_/ T
(A) 2 - (AT 2 X

(C) 2xr (D) I3 Y e 2 [ 2

ol \ 2 208 &
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107.

110,

208 &

98

The odometer is a device which measures . .

(A) Speed (B) Velocity TS L F
(C')  Distance (D) Displaccmt‘l'l'l Ll { ﬁ,l-;
MEHeR TF g7 & W AU 2 30 1| 53l
(A) o7 ' (B) 7T /ﬁf i
)" L (D) faweme " Dby
We first sce lightning and hear thunder only aflerwards becausc Il

(A)
(B)
(C)

Our eyesight is better than our hearing power

Speed of light is much more than speed of sound
Sound always travels a larger distance than light
(D) Light travels a much smaller distance than sound

uEel fAwe A we fawd @ 1mwmmm?ﬁﬂﬁ*“ﬁwﬁ“@
aruTuFﬁ

{m &Emﬁmﬁrﬁﬁﬁmu S e "2
( WﬂTrﬁiﬂﬁﬂﬂ%ﬁ“ﬁsﬁ?ﬂl i e ey
r.f} Eﬁﬁmwmﬁa@?"ﬁnmm

(D) Wmﬁqﬁrﬁwmﬁumﬁl

[ abody is thrown vertically upward with velocity u, it will go to a maximum height of :
(A) wg (B) w2g
(C) u¥g (D) w¥2g

U@ Y 9T 0§ kR W Ge o @ |MWW}1
e 2

—

(A) wg (B) w2g »
(C) wig (D) ,u¥2g

A boy 1s nding on a merry-go-round which is movin
this case the boy is

(A)  Moving with uniform ve[octty (B) Moving with no acceleratmn H

(C) Inaccelerated motion . (D) Atrest
% M q? mn'ﬂ X

AT WU @ A 12 més @) e 99 @ 9
(A]%H*?Ffﬁﬂ“ﬂﬂﬂﬁiﬁ??ﬂ% | (B) R @w &

g with a constant speed of 12 m/s. In

RET R | SFH §a g ¥ aw s,

&

(C)y w@fa fy ¥ D) fRmd 2 R
'ilﬁh:c direction of velocity of a body moving along a circle, a a point on the c_i,ﬁ-'ulﬂr, path
(A) towards the centre of the circle - (B) along atangen; 1o that poing _.
(C) along the radws of the circle . (D) cannot be determined i

}cmmwwvﬁm%mgﬁuw? T & A 35 L g
&) g8 @ T A N ( ) W-ﬁ—ﬁ“ R
(©) E,[“Iaf‘rﬁ?n‘f‘arﬂf&w (D) ¥ T Ry 3‘3&?1
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113.

Suraj carned ¥ 10280/~ last mop

. th. This . e T, winieh
amount did he eam this mongh » month his earning increased by 10%. Ho

() 1288 (B) 11308
(€) ‘;g’;{w A (D) 11409/-
- - @Y, = al+ Jd: e H g 2 ﬁ:
mm“!ﬁ § R T 2 18, 591 7R Iaa &g 10% 98 g | g9 HE \le';’_%
TSIt i (B)__+1308/- \o % ?,,{mgi&if \,E—v—?‘
(C) 11300 (D) 114097 ;ﬁ_ﬁr\f 2 02
| |I |
ly two men or only three wo -l
Only ' WOmen can com | * ay / ;
pooh S plete a piece of work in 4 days. In how many
days can one woman and one man together complete the same piece of work ?
6d 25
(A) . 2 (B) “days
®TA 2 I09 U BT 3 AfRam o 3 Nt i
: £ T I P 4 fom F g aRg &) g wmeo@) 1 afgen
m1wﬁmﬁﬁﬁﬁmﬁ@ﬁq? ~ s
(A) 6 B Pra 2, 5 - e
48 ' : R
© R - D) 3 j — ) RIS
2,3 ———= 4.
IfA. M. of6,7,9, x is 10, . .
- mu X 18 10_ then ?falue of x 1s 5k 4" X2 ?\?_
(A) _ (B) 18 —_—
| g;% 22 (D) 24 '
6,7, 9,x TT TARR R 10 &), o x F1 09 & — DAL O
(A) 20 (B) ¥ gAY Ay TS \
LS S (D) 24

114,

115,

e

g I

i

T, - £O

2 LAL— /’&4
What is the amount on which rate of interst is 3.5% and afler 8 vears the compounded
amount will be T 3072 ? ' 'ﬁ"’

(A) 2000 . ~ (B) 2200 |

(C) 2400 - - ' (D) 2300 o

T8 W 7up Bl for W 3.5% = ¥ W 8 aul # s 23072 & oy @ 2 (:f
(A) 20000 (B) 2200 - G 2.
0 E‘Bﬂ»/ S© © 30 028 e ® T “’T@H

; : /}_‘1:;1, E‘—'LEEQ i —

The length of a rectangle is g&lcm and breadth is 1m. Its ptrimetf:?' g - ﬁ) BC.

(A) 25m. Bt (B) 1.25m. | L

(C) 5m. w8 (D) 10m. f /'E;
Wmﬁm1mﬁf@$ﬁ1ﬁmé, : 2R Y ‘ﬁ/\g*ﬁ\

2 (B) 125 Hrex R il

o=

B!

i

!‘I:-i.L

.

b

= -
= E
§

Th[ r C® 28 _
L'G;Mm

\ LQ‘;{ 0) 10 ) (\ IO}W

2o ﬁﬁéjﬁﬁ%ﬁﬁ = 208 @

W e e ¢
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V9

Il.ﬁ

q\J

w

"’“/

7.68 T © - (B) 58000/ \’jga |
il . J ! i '
Wu A (D) 64000/ G X£ g

II'J

}”9’/

120..

f‘gm‘

Ao
LY Uﬁ

) 208
_.,-f/

/f' () ?165

[ - l;{} E :
L ! Sa.

A,
The ratio of two numbers 15 4 : ‘*Jﬁd‘ht"LCM is 60 then their HCT 15> k ;1
(A) I (B) 3 PRE =
€ 4 (0 am- ] X0
T _ o mmrr 1 OM 80 2 5% HCF 21— — 1
c:mmmaﬁmaﬁumaﬁém‘rad‘mmﬂfi b QOX o
(A} 1 R A S o 4.
(C)- 4 D)y 2 4})§ WA .

- J

) . << of 4 man, a
117..7 4536 is divided among 4 men, 5.women and 2 boys. The ratio of share
.f\ wom an and a boy 15 7:4:3, what is the share o [ awoman ?

: ‘”F'F/i (A) 7324 (B) 7498 &

(C)y 166 (D) 336 et Y T
Tas36 o1 NIRRT 4 gow, s Ix.ﬁﬂgﬂ-g_ﬂm”‘rﬁmﬂﬂlq‘rm g kel

dsth‘%W & AT ¥ | v wiRen @1 v e @ﬁj
(A) Tzt W{B} % 498 \j/)gfﬂ‘i
(D) ¥ 336

wenty five |'n:rc:|:nl of Pranav's annual salary is equal to e:uhly percent of Surya's annual
salary. Surya’s monthly salary is forty percent of Dheeru's monthly salary. 1f Dheeru's

‘/sp\h/umuai salary is 6 lacs. Pranav's munlhh salary is-

Q(a) 7.68 lacs {SL’ (BY 56000/-
b
(;H/){{} 8.4 lacs G/

(DY 64000/-
& i qdH, @7 25 wiowd Ful @ gifte g9 @

gfTrg & T £t

IWﬂTﬂTﬁT:ﬂ'ﬁ:{M?"?

|«
Which of the following numbers is exactly divisible by 99 ? Gﬂ

fzﬂi] 114345 (B) 135792 Q:{-Aqﬁ
(C) 3572404 (D) 913464 ..

& A U
F‘rmj;w 199 9 f w9 3 fewfoa famn o wg? @J‘Fg

(A) "ooa (B) _135792 Qf‘df[ﬁ ~
(C) 3572404 = (D) 913464 /@f

L\\S’ 7

On simplifying 903 x 903 + 903 x 194 + 97 x 97, the value W|||-},/Q/
(A) 1000 (B) 10007

(©)  1000* (D) (903 +97) T/
903 x 903 + 903 x 194+ 97 x 97 BT W¥el T W T gpyy (%
(A) 1000 (B) 1004 N :

5 &

(C) 0+

0 ) QQ“)‘-QJL

]ﬂ)l--ﬂtb‘-' (D) (903 W 6}5 | E p{l.

S riftig aa, e § TG T 6 e ghm 21 4 @ e ne |

..-"..-..". ]"
\;(\f/z‘ﬂaj..ﬁ:_] =2, 1= o=




e : N S L -;r\\("‘ u
.-/('-' j\‘f___-;"“,_g‘;;{% A Qﬂf ) f{ql‘
21. Sum of 40 terms-of'; mf & _ &> A
1 R il BT first term is 2 24 common dl]TLI‘Ll’]LL is d 'MH be - .
(A 3200 Gf“\ S B) 1600 g_g,,
(€) E"lﬂ[l{l (D) 2000 S
'ﬂmﬂa}‘mw’a‘”ﬁ” Rzt "amqazamur&aﬁa?ﬁ% i l
M 320Q_~" <t )
( 7’\/ (B) 1600 ")“‘ ¢
(C) 1800 a;fl*?? P D) 2000 axﬁ'( Ab -\} &
S'ﬂf_ q
ot B i
@ Rehan purchased a bike for 34000/-. He sold it at loss of 8%. With that money he again
f&l‘umhﬂﬂd another bike and sold it at a 10% profit, what is his over all loss/profit 7 «5‘_4
(A) 670 Joss (B)  567/-profit

Sq'_ (C) 648/- loss —*“f

(D)  648/- profit C'] 5
7 A 54000 %, ﬁwmé?ﬁﬂfrm\smgﬂa T Oy dm| I o A 3 L
ﬁﬁfﬁmﬁfl‘ﬂﬂ?m%mmhnmﬁwvﬁ e & 2

A‘i B3I f”m iF.i} 567 :\g
-f’ -~ Q 6 QK»E'_EFX/',.,-""
“*' | 5! ”’“\ 7 Eam
@} Yo 0f520 - 46% of 250 = 7 - 84 ' a_-;' g___ﬂ‘ﬂr 0
= (A) 103.2 (B) |104.2 104' . ./’/%E

(C) -238.8 (D) -258.8 XM y 4- g £
520 &1 26% — 250 F7T 46% = 7 -84 i —n B i
P 2t

(A) 1032 \D - 45
(C) —2388 {1/?%;& ¢~ (D) —2588 #M'\ "f-”é
(;144 population of a town two years ago was 45000. It increases by 12% in the firgt xear 0
¢ L

\_ | and decreases by 15% in the second year. The population of the 10‘#[} {L\the end of twog ¢
)y Years will be- M" L% _/_3,‘ S-MJ

5 (A) 57960 6 D 4322 2 E‘s

| (©) 44820 (D) 50400 \

4
f ‘GF{;EHE[ ?-?l Eﬁ:’ﬁ ‘Eftf %o ﬁw@%‘l B 15%& é'- g
%ﬁdzﬁﬁ ;E-:l?;ﬁw il tﬂ;‘ﬁgﬂ]' ' . 12K4 ?/ 7
; 4284ﬂ
Miﬁ: gjpé e T “ S ff?)i 50400 : 4‘C\ 6 B/ﬁM

= 4 [re-
115 Tha diagonals of a rhombus are 24 cm and 10 cm. Its side wui be ?,; 4' q G 8’(}
' @) biem D -
11’?( (D) 13em ' (-( ?é B

a‘:f%rawfzu%rﬁwm%b' H
9 G '1/‘!3 I S8 B
753 W,. %1/1% -
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|
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\m} 3:2 g
Ve ¥ r(r’i:'é‘r = # e
T 3T

4({ mewwgﬁfﬂqe
Wb 3:2 ~\o
q/é } 35 \v L. ©
W 208 & Zp
b j"’f D{é / 0.0
24 = 7

0 hqfé"f‘ fourth angle of the quadrilateral is 45 °, What is the difference between va UE/Lh’-' I

K<
Q.
# "\’2’)

&0 ins® VS S aasiasih
A Lo eV s
Sx¥ia x o8 f‘f? 2

--""O\ —

-

The ratio between t\fu. three angles {Jfa quadrllaleral 1s.):6: 2 respectively. Thc yae ;E—«
Fst

and the smallest angles of the quadrilateral ? e

(A) 165° (B) 140° ) A% | r-j']_"

(C) 1759 ij 150°

YO agyE & T P @ dra ey eum e ¥ agpde @ A SO W U 45T
F"Tﬁfﬁma%mmmﬂzﬁmrmnmmamm—ﬂm

G W - (B) 140“ p 4 o{ 240

el e DY

\. Q'ﬁ' Fifty three PE‘FL‘Lm of a number is 358 less than the square of 26, What 1s'the value Of'thrr::c

L

fourth of 23 percent of that number ?

(A) 10 == (B) 1085
() 112 . ~ (D) 1033
- Qﬂaw@mmﬁ%rwﬁfaﬁzaaiaﬁﬂssatﬁt{?iwmaﬁzsﬁmﬂ??ﬂﬂ"ﬂ*EI
RIEAC 2R o 6 o . ﬂ;;u
(A) 101 s (B)' 108.5 " ,.-.—i-}’ 7 (;'i:} c} O
(C) 112 . (D) 1035 % 6 A i Y g
L A y
128. (\}16)* x (\/256 )";(54)2—(4)? a X 4 -
L WS - ®) 4 e Bﬁ
oy (€ 7. . (D) 6 (b:j/ =
(V16)* x (1/256)5 = (64)2— (4) | {(Rasx
b (A) s (B) 4 e :
© 7 ® & ETUREYT ek
» e (708 + 619)2 - (708 — 619)2
13_5:1. After simplifying 708 7 619 - the value wil] be
(A) 2 _ (B) 12
(C) 1/4 _ T M) 4
g_ﬂ3+r;_;2—(703 619)*

[30

nAi:

N
}rhe ratio of Gopi
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134.
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| V. "fffA' .
Third pmpﬂnmﬂ*!l of 2 'm-:i dig - A \ ] {\"\—\l 2
{I"-] 4 L {BJ 8 " ‘r’ L l:l (
(€ 64 Oy 16 2 ' j’"’ g &0
20q 4 T dﬂm‘_ﬂm e - / ' P ;‘?U\ﬁ’.{_i a - ©
(A) 4 (B ;”'il '\“*EFQ - %,

- - . ) ) 3 6* ) ; -jc I _‘h
(C) 64 (DY 18 ! (J A" r;:"lr”ﬁ: ) IAF‘*

e | 2

An observer slandmg 12 m daway [ro ’L: 3

top and the bottom of a ﬂagqmﬂ‘ on

m a building notices that the angle c}feici*:mun;y {hf S
of flagstaff s -

the building are respectively 60° and 45°. The nﬁm‘i@ 4-4°
*

(C) 983 m | D) 132m I
‘Iﬂ?mtﬁﬁﬁf’é@n??zﬁr?ﬂ[rnzg:;braéiﬁfaf?@TVWH“q_h }
m?wﬁﬂmﬁ%mwmﬁmm 60° AT 457 ?“ﬁ"mﬂ/%
(A) 1247 1 (B) 527 :\f—f——‘/‘
(C) 983 A (D) 732 H éjrﬂ*"" g"%lj:a':-

-
Raju's monthly income is two thifd Son

; u's monthly income. If Sonu's annual income i§o . 4 Z
1,72,800/-, then Raju's annual income s-

(A)  11520/- (B) 151000/ -
(C) a%lﬁﬂﬂﬂf- #'_—Lﬁ (D) 1152000 4_4(}1,_‘
T, B 7R g mﬁmmﬂa‘rfﬁ-{:@%rﬁq&ﬂmﬁmmmz.ﬂf@/— -
(A) 11520/~ (B) /- 7 gSu
(C) 115000 /— (D) 1152000 l 7 1'1_ /
. = 2%~

| /”(2@
Base and height of any triangle are 10 cm and 20 em. Area of the para!lclmgram with same %_\[
height and situated on the same base is - Q
(A) 200sq. cm (B) 300sq.cm //” 2, " UO
(C) 400sg.cm (D) 100 sg. cm g
ﬁﬂﬁﬁgﬁwmmﬁﬁr@mzﬂﬁ%lmﬂmmﬁm
T AT T A § - 7 Q{U
(A) 200 97 ¥ (B) 300 : _ )r’:—/"
(C) 400 T ¥R 5’7\ (m_mﬁ#f e

The sides of a tnangular shop are in the ratio of 3 : 5 7 and its perlmeler is 300 m. Its } SHQ"

amawmb:!_ { “t L X
(A) 300+(Im? [E} 1500 v/ 3m? (e
Q) 750 \3m? (D) 1000+3m? .Q,I,Z/O—
?Wm}ﬁwﬁmwa 5 :.7.% 3R Iw@T wRwT_30¢
ik | 9 @ug ) @ S = .;.....i._.,.
1 (A) 3ﬂﬂ\!'m"'w AE/@ 1500 /3m? yu \;??: \oU
(C) ¢ 750~3m? ol 4 10003m? g N :
® v{?/ 59" 0O e 700 S-'D
g/{g; o 25‘}_('1@“: 2\‘3?\ a %}Q@‘@

. -_ 9
Ao 2/ gV ST o



?' Iﬂﬁ F/r:mumicrence of two circles is 8¢ meter and 220 lmtur What is the ‘h“ﬁm“f’f :
bétween the area of the larger cirele and the smallest circle g

(A) 3422 :n (By 3242 m
{CJ 3244 m’ (D) ‘-234 m y’
2 ge 9 oy e es e ofik 220-HEv RO H¢ T AW B1gy, ,{_ﬂ_,,xﬂ 2
‘vJ‘I—I eaar aae 2 7 ‘3 --x*f._

g ﬁf"‘" ?\}‘*
(A) 3422 &\ (/\ ~ (B) 3242 \ "/"
I'E‘}ﬂaqu AT /\'/ () _za ™ 57 7/

rs 1,;:.1-:5 At 1|:1|.. gl of

7. Shéela took a laan of E-Dhﬂm- at'a rate of simple interest fo 3 3
/5 years she repayed an ﬂll}mh}t '?BI'JH The rate of interest per umum 1 Sheel
Pt togk the loan is- A ./1\ —V" %
| 3 2 d
(A) 5% (B) 4% 7@# L/,
© 8% © (D) 6% A (

HEWRY ard & o @ :f‘fTE-ﬂ 3 5 @ @ U s0600/— FI HI i 5 44 are SEEY)

« 65780/ — @ IR g | e A fa & e oY W i fe ‘-*i%

Cb'x: (A) 5 wfaem (B) 4 ufaer ?"’/gg v
\"}

}cvl“ t{C/_,-a—’ﬁ‘i?rW _(Dr
/ s

,-_, -

e 38. A solid cylinder of glass whose diameter 1s 1.5 meler and height 1 meter Ts melted and
turned into a sphere. The diameter of sphere 1s- 1 e X

\%‘i (A) | meter . (B) 0.75 meter

\"s 1.25 meter (D) 1.5 meter

& E‘T[_IEI'TTQT T wer fordl @ 15 Hex o mag 1 Wy ¥ %] TN T L

E‘ﬂ’f‘ qFATA AT £, @) e & T am-_ A0
(A) 1 #AER mamiieiee (B) 075 HES ,’L ‘:b 5 L
(C) 125 #reEw (D) 1.5 3w G \

139. In a G.P. tenth term is 9 and fourth term 15 4, then 115 seventh term will be-

{ P, . s
L -(A) 8 (B) 6 L j_\
i

© 9 (D) 7 ﬂ‘\ﬁ

el Aoy 1At @ 1gal o g =er T 481, W] SR A e e —
(A) 8 Eﬁ’—"‘%: (B) o~

e (C) 9 (D) 7 k:% R

140. A room’s length is double of its width and width ts one third of its height, 1£ the are -Hp.a\ :
four walls is 2592 m’, what is the height of this room ? f\, :

(A) 30m. (B) 30m \@:\ 2 ~5. 4
(C) 34m (D) 28 m. 3
v R @ wEE, SEa e @ anpi aul disi gy r&mrr., e n—,.n@m ‘,.Q

afe wae @ g DER] F1 e 2592 &l @y i
(A) 36m. _ 30 i j*ﬂ
(C) 3sm. e %-5\ f”)'(
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